Equal 9 step grey scaling betweebh* g3n=29.4 andL*y,w=78.4, Yoref=3.6, normalisation whiteW

L*0anF29.4,L%0a=53.9,L* 0aw=78.5, Y0an=6.0, Yoam21.9, Yoaw=54-0, Coay=Yoaw: Yoan=9.0
L*tan=36.0,L*ta=56.0,L*taw=78.5,¥1an=9.0, Ytau=23.9, Ytan=54.0, Gay=Ytaw: Ytan=6.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%= 83, g%y= 80 g%= 99, g%5= 96
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1108 *a AlL*la
100+
()9 785 10 540 10 785 1.0 540 1.0 78.5
75T T8 723 0875 441 0795 727 2; 0865 448 0875 731 :g
7 662 075 356 0616 67.1 .. 0732 367 0749 67.8 .
6 60.1 0625 282 0462 615.. 06 208 0624 625
5 539 05 219 0332 560 .. 0471 239 0499 57.2 .
S0T @4 478 0375 166 0222 50.7 o, 0345 190 0374 519 7
3 417 025 123 0131 455 0 0224 149 025 466 .7,
2 355 0125 88 0058 406, 0108 116 0128 a4
1 294 00 60 00! 360 00 9.0 0.0 36.0
254 !
) : eatio i+
0L AL*p4=6.1 (=1,2,..,8) : normalisation: Ytaiw=Y0aw\}%
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